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Note : This paper is of Eighty (80) marks divided into two
(02) Sections A and B. Attempt the questions contained
in these sections according to the detailed instructions
given therein.
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Note : Section 'A' contains Five (05) long answer type
questions of Twenty (20) marks each. Learners are
required to answer any Two (02) questions only.

(2×20=40)
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1. Define economic development. Discuss the various  measures
of economic development. Which of these do you think is
most suitable? And why?
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2. What are the main characteristics of an underdeveloped
economy? What are the barriers to the development of these
countries?
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3. Critically explain Schumpeter's theory of economic
development and state its limitations.
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4. Critically explain the theory of Big push propounded by
Rosenstein Rodan.
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5. Briefly explain the theory of dual economy of Fei-Ranis?
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Note : Section 'B' contains Eight (08) short answer type
questions of Ten (10) marks each. Learners are required
to answer any Four (04) questions only. (4×10=40)
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1. Explain the difference between economic development and
economic growth.
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2. Discuss the factors affecting the economic growth of a
country.
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3. Explain the main elements of Marx's theory of development.
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4. Explain the concept of Balanced Economic Development
and also explain its constraints in the context of
underdeveloped countries.
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5. What do you understand by the Critical minimum effort by
Harvey Leibenstein? Describe the ‘Role of Public Sector’
in making minimum effort strategy effective.

 ��
��-��)%+����
����'�����8�����2��	�	
���������	���

 !�"���8�����2��	��7��������
��2
����87���)���
��
��9	��������5�
:�
��� 
�8����;���� �7����������

6. What do you meant by ‘Technological Dualism’? What are
the shortcomings of Technological Dualism?
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7. Explain the Theory of Nelson's.
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8. What does Arthur Lewis mean by unlimited supply of
Labor? Why has Arthur Lewis emphasized the importance
of income transfer in favour of the capital class in this theory?
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